Honors Geometry Homework for Section 5.1

1.
A
Given: AB = AD
ZBAC not = Z/DAC
Prove: BC not=DC
B (o4 D
Statements Reasons
2.
J
Given: P is not the midpoint of HK
HJ =JK
—_
Prove: JP does not bisect ZHJK
H P K
Statements Reasons
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Honors Geometry

Homework for Section 5.1

Given: @_O
OB is not an altitude

Prove: O_B) does not bisect LAOC

Statements

ANB_“C

Reasons
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Honors Geometry Homework for Section 5.1

11.
A
—
Given: BD bisects ZABC
ZADB is acute D
Prove: AB is not=BC
B C
Statements Reasons
12.
H
Given: @ .
HE is not L bis. of DF
Prove: DE is not = EF o

DN_E_ “F

Statements Reasons
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Honors Geometry Homework for Section 5.1

13.
Prove that if AABC is isosceles with base BC, and if P is a point on BC that is not the

midpoint, then ﬁ does not bisect -BAC.

Statements Reasons
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